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1. (10%) Describe the steps in transforming a C program in a file on disk into a proeram
P g prog prog

running on a computer.

2. (10%) Describe the operations of the following 80x86 instructions:
JNZ, RET, ADD, CMP, INC

3. (10%) The C345C2 is the hexadecimal string of ASCII characters. The leftmost of the eight
bits in each pair of digits is a parity bit. The remaining bits are the ASCII code.
Convert the string to the ASCII characters.

4. (20%) Please describe the following terms and explain their advantages and disadvantages.
(1) Carry Lookahead
(2) Booth’s Algorithm

5. (15%) Please describe the steps for executing floating-point addition.

6. (20%) In RISC what are the possible steps (stages) for pipelining executions.

7. (15%) In a computer system how to connect I/O devices to processor and memory ?




